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Let f be the function represented by the graph below.
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Let g be a function such that glx) = — 522 + 4x + 3.

Determine which function has the larger maximum value. Justify your answer.
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The zeros of the function flx) = (x + 2)2 — 25 are
(1) —2and 5 (3) —5and 2
(2) —3and 7 (4) =Tand3
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In the equation 2 + 10 + 24 = (x + a)(x + b). b is an integer. Find algebraically all possible
values of b.
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Rhonda deposited $3000 in an account in the Merrick National Bank, earning 4.2% interest,
compounded annually. She made no deposits or withdrawals. Write an equation that can be used
to find B, her account balance after  years.
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“If my mind can conceiv
and my heart can believe
—then | can achieve it."

Muhammad All
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The table below shows the number of grams of carbohydrates, x, and
the number of Calories, y, of six different foods.

Carbohydrates (x) [ Calories (y)
8 120
9.5 138
10 147
6 88
108
62

‘Which equation best represents the line of best fit for this set of data?
(1) y =15 (3) y=0.1x— 04
(2) y=007x (4) y=141x +58
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Solve the inequality below to determine and state the smallest possible value for x in the solution set.
3x+3)<5x—-3
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Express the product of 2 + Tx — 10 and x + 5 in standard form.




